N of reco track vs dxy [N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

1%} (%] %] [%]
x X < o B4
8 g gt g
= a e [ s
=l X =1
1 s Z10° 8
[=%
10° E 310
2
10* 10 10%
10
1
1 10°F
o
5 §§¥§§
« ”'W‘ i IHIH . W\HWI%"‘N‘."W‘FW‘W“‘F R T
it e H -
: Al ‘ | \H\ |H| | I I i : o9 I
0'—“25—20—15—10 -5 0 5 10 15 20 25 0 5-20- 15 10 -5 0 5 10 15 20 25 o ?5 —20-15- 10 5 O 5 10 15 20 25 025 20 15 10 -5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
[N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2 L 2
Q [=] [5)
g s s
[ Q Q
=1 & g
E
© 10
1
o o 8
§ § # E 1.2)
N
| W wwm : g@ww WM% 1
0. o.est - H HRki alily 0.95! 0.l H K H ]
=30 —20 —10 0 10 20 30 =30 -20 -10 0 10 20 30 =30 —20 —10 O 10 20 30 =30 -20 -10 0 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


